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Pre Calculus

Unit 5: Exponents and Logarithms Review Sheet
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is equivalent to x = y3 using properties of rational exponents, where x = 0
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1. Justify why
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and y= 0.
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Solve the following equations for all values of x
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Expand the following logarithms
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Solve the following equat on
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11. lgm(v —p+4)-logi(2p+ 1) =5
- prey @

amu - L/

qnéa( [03_3
13. log(x 6) log(3y=1log6

=lpgb

3@*

}@b}%ﬁdg

32
/ 'S P ‘PM ( 3)% 3) ‘*(QxBXX’LS_)
QP+5 \ O-‘ ’, 7P-8J )4_3)@. 2(4‘01 A Ve + hxB3x 1S~
Ll o==

\

15, %2(4)—5* ~14
il - g K:—"_ HD\

12. log, 4 5(2x +3) + logg, 3y (x + 5) =2
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14. log,(x—40)— Iog (x 10) = logg(x +2)
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Graph the following equations on the grid provided
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